
CSci340,Spring2003,Assignment3

Thisassignmentis dueTuesday, March 25 at11:20pm.Youshouldsubmitapapercopy of yourHaskell
codeto my officeor at thebeginningof class.

1. Write a Haskell functionisPrime, which takesanIntegerandreturnsa Bool indicateswhetherthe
integerparameteris prime. (Notethat themod functiontakestwo integersasparametersandreturns
theremainderwhenthefirst is dividedby thesecond.)

For this problem,andfor thenext one,you canfeel free to defineotheridentifiersin your program
code.

2. Supposewe wanta datatypeto representanassignmentof valuesto identifiers(akin to theContext
objectof Project2). Wecandefinethisasa functionfrom aStringto anInteger.

type Context = String -> Integer

SuchaContext objectwould take anidentifiernameandreturntheintegerassociatedwith theidenti-
fier, or it would raiseanerrorif thereis no suchidentifierassociation.

Definethefollowing two identifiers.

emptyContext :: Context
addIdent :: Context -> String -> Integer -> Context

The emptyContext identifier representsa Context objectcontainingno identifier associations.The
addIdent functionessentiallytakesthreearguments— a Context � , a String

���
, andanInteger ����� –

andreturnsa Context thatis identicalto � exceptthatit associates���	� with
���

.

Thefollowing exampletestexpression,usingthesenew identifiers,shouldreturn4.

(addIdent (addIdent emptyContext "a" 4) "b" 8) "a"

This samplegeneratesa Context associating4 with a and8 with b. It thenaskstheContext to return
thevalueassociatedwith a. The following examplegeneratesthesameContext andthenasksit for
thevalueof d. Theinterpretershoulddisplayanerrormessage.

(addIdent (addIdent emptyContext "a" 4) "b" 8) "d"


